MATH 1432, SECTION 12869
SPRING 2014
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13. (Sgetion 7.7, Problem 9)

(6) st (23 'R7)
=su2Ey=2

() CO% (zsm\*@])
s'E =x & swxx-% =

COSQZX){COSX) an) ,

L?_L_,l~

Ry >

%":iq"%'\b? ‘F‘KM (é/f)\

4\‘> ) 21 . %
N

M~ aIx sy |

e

&R

Py 2R

. {Section 7.7, Probia

‘F(X)*e ST IX.

0= g T Jor




Q~ Slpvtm‘ 5(\1 )

| ~| l
—— - Xun(x) &= =
X = ) NI D7 24
X— U“r)(z?*fM\‘X ‘ _ — i = i\\
= ) | e G VN
18. (Sect \{ 21. TOII 7.7, Problem 41) _L
IQH*&M(*“”X) R O LA .
o B T =l = =T
Dt itz
i X \*X |
|
g-ﬁon (nx). | x|l <T
| | 0 \[d=¢ 2 10 6.

[ sy ~
3\ HUUAX}Z 7§ ‘ ] gk?/ = sruf{%‘




a»u\ QX (jU\‘QOKX

23. iSeetion 7.7, Problom 413) (\ )
S 1, ax (B T\ T e o
674’3:*%?’_;%0“/\5 o & (ﬂ»)*é}% \_Sé Héxdx j, *UL?’\%& (C()"
o R =duile -3

\Ql‘ u:-xz/ow:-zxdx

v 4
25 N ~\-sm U~ C

7. Problem 531

] [ |

_,\L STP\\fx?’T C.

Se&X j L Jdu

Tthanx O\X
= (Dt
- }Lw(ﬁg«é Yoo

qtaz




33. (Section 78, Preblan 1)
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